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Find the function with derivative f’(z) = e2* that passes through the point P = (0, 7/2).

f(z) =

%/u) 1 - o L —
\&y_g“- Oy Iy @V'V/}h\/(—— D‘N”L A ivx((-‘%/( N2V ( O, /9\> _/.m ‘%[0\; /9\
O, Y _ S
(O,%FJ) _[gbk\— % (X)) Ax = e C?L\/\ o
)
= 2K
Hriale g - 1 _
€ &M— A . E,{,u\ =dx
@ (¢ (s S
[ - ,L. U - /\( C/>
g = Fa&y" }g_e b a= 7 :\\;»\\/f‘hw
- L
po ,_e/_l_ C
@%b&\ = \—a& + 3
= ‘5@ + D
AR N 5.0

@ ‘@L\/q = Lge, + D ” §§\—f~ %(D\’; lé + D= 39




P\

—_—

2

X
m8 Va
F(z) = = + v/ + €°, find F'(z).
—lI — |
E (K < N L
Loy ++,2 4 Q%
2 2%
7 e
= X4 5% +e
A
= N
. s
. 3 >
/(—9m7+ b€ )dw: ~Ar L BT~ Le 4 ¢
BB ¢ w2t "

3 | X
_%_X‘*%ﬁ— ‘_{Q/ + C



Ab2 7466

g Aoulile pw:o\-ﬂ

Suppose f"(z) = —16sin(4z) and f'(0) = —3, and f(0) = —3.
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